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___Here are some linear ordinary differential equations to practice in preparation
for the quiz on Wednesday.

e Solve xy' + 2y = x2—x+1 with initial condition y(1)=1/2. —
e Solvey' + 3y = 2x—1 with initial condition y(0)=3. -

e Solve y' + xy = 2x3 with initial condition y(1)=5.
rate of ghange heat energy flowing
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Fourier’s law. Usually (1.2.7) is regarded as one equation in two unknowns, the
temperature u(x,t) and the heat flux (flow per unit surface area per unit time) ¢(x,1).
How and why does heat energy flow? In other words, we need an expression for the
dependence of the flow of heat energy on the temperature field. First we summarize
certain qualitative properties of heat flow with which we are all familiar:

1. If the temperature is constant in a region, no heat energy flows.

2. If there are temperature differences, the heat energy flows from the hotter region to
the colder region.

3. The greater the temperature differences (for the same material), the greater is the
flow of heat energy.

4. The flow of heat energy will vary for different materials, even with the same tem-
perature differences.




AN

2 el ~ N
ot *jﬂ—_"—%%‘kj—‘\;%’ )
:a’. el1d) = ¢l ,DLaL) ;é:uu)k) 69 = —K = ‘,)%L
it l ot
Ty
| \
c(w\‘pt¢) 2 k) = < 2 K U .
ot x
Xa
A - 2u
W SN n T\ o o
(Q\:’oX?.@ﬁﬁ/ |
L ey S
X :‘7&)05 $‘.Mg\lh &Vm «lf}rcr\/ Wwﬂ Wl‘i"“ql )

@&MMMJWMWH

-H'x TV

>4 —

)

QXAO 6“'?'“ Q';O,

)
a\
2 _ R
c‘{o %uu,k) _ W(m\
°t ll = K ?ﬂ“ -)-9’ ?:1‘. d,S\m.!. = _E:—-
A L T e




for the quiz on Wednesday.

Here are some linear ordinary differential equations to practice in preparation
e Solve xy' + 2y = x2—x+1 with initial condition y(1)=1/2.
e Solve y' + 3y = 2x—1 with initial condition y(0)=3.
e Solvey' + xy = 2x3 with initial condition y(1)=5.
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Solve y' + xy = 2x3 with initial condition y(1)=5.
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